INTMINISTEMPEL @ 12MM

JESTEMPEL 1,50 €

L0

101+

&

1.00-]

103

]

10243

STEMPEL TN ORIGINALGROBE
1014
-

1024
=

1_03-4

va’

[_0b-4

i



INTMINTSTEMPEL @ 12MM JESTEMPEL 1,50 € STEMPEL TN ORIGINALGROBE

L1 L1 L1093 L0
¥ & © =
( L1 L1 13 ny
& Q a
L1 L1 L1 L1
: o l
L1 13 133 14
W Co] &
L1 L) L1 L1
— & V
L1 15 L1 154
W L} = O
L] L) L1 L4
{4 e - =
L1 L1 L1 LM
* M A &
L1 1) 1) L1




INTMINTSTEMPEL @ 12MM JESTEMPEL 1,50 € STEMPEL TN ORIGINALGROBE

L111 L1 L1 L1
( L L] L) L1
8 S Q -
Lo L7 L1 L4

" o= d

2] 1.2)-) 12143 2+

L8] IL3)
¢ ¥
L] L)
"
)
L] 105
*
L)L 12



